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; Grey line: exponential fit Peak flux: 3.153+/- 0.560 c/s/cm? ;
- Black line: power law + gauss fit Fluence : 54.20+/- 18.38 c/cm? -
il Dashed line: power law A ) ’ 7
- Duration: 28.00+/- 8.71s 7
- Best fit model: 2. 3
- Best fluence model: 2. -
= | Best duration model: 2. =
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; Exponential fit é
= Expon.time: 10.90+/- 1.51s (chi*red= 1.12) 3
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; Power law fit é
= Power law index: -1.411+/- 0.139 (chi’-red= 1.12) 3
S bt b b R TL R T
= i # Wﬂﬁ iy wﬂ%ﬁﬁ T H:* Hﬂwﬁwﬁﬁﬂ iy f TN fH*:ﬁmwWﬂ* Vg R Wﬂ#ﬁgﬁ* H *ﬂﬁ *ﬁ’ﬁ:ﬁ?
= ! =
i T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 20.45+/- 7.22 s, fracgs= 0.27+/- 0.21) =
- Power law index: -1.611+/- 0.397 (chi*-red= 1.12) 7
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